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GENERAL INSTRUCTIONS TO THE EXAMINEES :

‘| (1) el Hefem 31w ST -0 T Sfer: T |

_— Candidate must write first his / her Roll .No.no%e question paper compulsorily.

@) W e o | CO¥

All the questions are compulsgr o

(3) TAH YT HT I SN

| : Write the answer to each qnestlon in the given answer-book only.

@) 57w 3 syt @ve §, 37 9t % IR w Ty @ R |
| For questions having more than one part, the answers to those parts are to be Writtey,
| together in continuity.

| f‘

| (5) m-w%%ﬂaaﬁvﬁmmﬁﬁmmﬁgﬁlmlﬁﬁmgﬁ“ﬁm%m
* ! 9 7T |

If there is any error / difference / contradiction in Hindi & English version of the

Questjg,
paper, the question of Hindi version should be treated valid. n
s a‘ﬂr" ™~
" (6) W¥ 1 I Rr@ & I I 1 HHich e ford | o
- Write down the serial number of the question before attempting it.
:
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(ii) ﬁ%@aﬁ@qﬁwﬁqu%-

(%) qrheft () o)

In which of the following perisperm ig found 9 !

(A) Beetroot (B) Peq K" |
(©) Groundnut (D) Sunf] OWEr\B _(

(i) B9 9 3R mr{ﬁwxaﬁﬁmuwam w e

o fﬁ%w%aﬁx%nm X0 @
(31) s figh O e,

(®) Actehfiren R ity

In which chromosoma] disorder

A — Chrorn A S <
chromosome is as X0 ? » N JEisS ‘mssmg and the sex
A) Down’s § ndrome B WKl S
(C) oo Y (D) KIII’IEfeIter Syndr()me
(©) alassemig ( Tumep'g S drome
(iv) = Tediert e g -
(31) "ty (F) wHy
(|) e (]) iy
Purine nitrogenous base is - ‘ y |
(A) Cytosine (B)  Adenipe 885
(C) Uracil (D) Thymine I
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(v) Erfara T 1 WThe & —

(31) 3t (9) Uehig
(F) TEARaE it (7) wisHifemm
- The Pathogen of elephantiasis is - 1
(A) Amoeba (B) Ascaris
(C) Filarial worm (D) Plasmodium
(vi) Toreht iftremT & qof urew Sea=r @1 <61 e et 2 -
(31) gewaey (F) IR G
(|) Hehtor (7) qofsTeRTaT
The capacity to generate a whole plant from any cell is called 1
(A) Micropropagation (B) Somatic hybridisation
(C) Hybridisation (D) Totipotency
(vii) 1 & S g frsrer whieror & 8 gepdt 2 7
(31) Herfn (a) £\
(") A ZK%? ‘4 _
Which fever could be confirmed by WIdal tes 1
(A) Malaria yBenglle

(C) Corona 0?? (D) Typhoid

(viii) @Ter *ge # & uTeHi 1 & &I &
(|) Teeiess IuvieaT () s1qeresh _ R
The status of green plants in the food chain is - | | i _‘ : 1
(A) Producer (B). Primary Constimer '
(C) Secondary Consumer (D) .Decomposer
(ix) I W N S 3h1E Ut A oot HiH I R HEr 7
(31) I-Ac (¥) I-Ab
(@) T-Ac (@) T-AcT II-Ab
Which protein gene cry is controlled the cotton boll worm ? 1
(A) I-Ac . (B) I-Ab
(C) I-Ac (D) I-Acand II-Ab
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Pt <2t <61 o i
Fill in the blanks :

(ii) aﬂzﬁmt)vﬁaﬁuh__aﬁwéﬁr&h@m%n |

Bt toxin is produced by bacterium

* When a species becomes extinct, the

3

) S other plant ang animal specjeg associated with I
it is obligatory to extinct, is called )

b e ]
. = ' ' L
3. ﬁwnﬁ%mwmm@ﬁﬁwz' e @,%
Give the answer of following questions in 4 wor

doraline =
(@) H-sheifieh st afenfia St | wF

o

Define biotechnology. ‘ ’

R
TR et ert e oy

he ﬁ’”éféeny getting 1A

(ii) mmélAasﬁaaﬁméimﬁam

Which will be thé blood group of t

allelé from father 2 allele from mother and i

(iif) SRITATRER it afomyr frRew |

Write the definition of biopiracy.

(iv) quierar 7 =afd s 3 (aqf)ﬁﬁﬁaqﬁmmm% ?

Which colours cannot be d-iscriminatcd-by- Person in coloyy.

) Fa e i afenfia Hif |

Define innate immunity. : ity nr !

blindnegg ? R |
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(vi) JTERTERA: TR ST (GMO) ! aheiya Hifve |
Define Genetically Modified Organisms (GMO).

(vii) 95§ S 71T (WR) % e g vern g g 7

Which type of pyramids of biomass is found in the ocean ?

(viii) STET T TRV T8 7
Whét is ex situ conservation ?
g ~-¢
SECTION -B
T I W9 (ITR 315g HIAT 50 V)

Short answer type questions (Answer word limit 50 words) :

Write the name of any three contraceptive methods.

s

one use.

fpedi i it e w1 m fafaw | ?‘
GO

Sftr T (STIfR) #1750

What is gene gun (Biolistic) ? Write 1

e e & Y i e fog o |

Write any three important points of beekeeping.

oy ST T R 7 Y T Q) 36 SIRG, |

What is animal breeding ? Explain two aims of animal breeding.

S gig ferehie 1 HRIT FHATRT |

Explain the reason of population growth explosion.

areeh & T O Bg A fehe) T ferRINaT h TwEST |

Explain any one feature required to facilitate cloning into a-vector.,

Frfrea i Sg-tefireh o forelt T IR <ht TSI |

Explain any one application of biotechnology in medicine.

“t+¥%h+%=1%

“+l1=1%

K+ v=1%

1%

1%

1%
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12

13.

14.

15.

7.

16.

6

ST ¥hd: T W & IeATe o i ol @ feafay | foreht weh argafiera: wumaia 18
1 IETET QT | -

Write any two advantages of production of genetically modified plants. Give any one
example of genetically modified plant. Yt +h=1%

Sta-ferfererar Y a1t 1 U S THEmET | ; ~

Explain one cause for the loss of biodiversity. 14

Tt ke weg @t vawen § BT ¥, TEesy |

Pyramid of energy is always upright, explain. 1%

TR Sig 61 SHfeyep 3earg 3 o qfER R 2

What is the role of transgenic animal in the biological product ? 1%

St -fafere 3 st & wreiw wives w1 e SR |

Define species area relationship patterns of biodiversity. 1%

el -4
SECTIOI\{ C

~

é‘d?ﬂﬁ!‘.{ :’ [ f
W(wwlﬂm 100 ¥1=<) : ,a%m
Eorig answer tYpe questions (Answer Word ﬁrglt 100 words) :

ﬁ%m@mmlwﬁﬁmm%amml

Define asexua reproduction. erte ewo ‘examples of Vegeta’uve propagule in flowering
plants, * ‘ 1+2=3

FYE/0 4
%Wﬁmmi%ﬁ%ﬁml

Define sexual reproduction. Explain menstrual cycle.

ST <% forarm <t wie ant <) wmmrEn & wwEmsT |

Explain the law of dominance by the help of Punnett Square. 1+2=13
31941/ OR

g} FeHTUT i ISR G HHATSY, |

Explain test cross with the help of an example.
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Previous Pathshala




>
18, Teelt T et~ T BT T FARAT | Ser-aTfed W <ht AT 5 IUTT THSTST, |

Write the name of a water-borne disease. Explain preventive measures of water-borne

diseases. 1+2=3
31Er/OR

e S i 3 ra B S TR 1 T Sare R |

Differentiate between active and passive immunity and give the example of each.

g ¢
SECTION - D

Ao Yo (ST v T 100 ) -

100 words)
Essay type questions (Answer word limit
10, reiepes T & 7 G o) ST 1 Ui T | T T teh ehEr 31 ATHITehdl o1 TS |

e 2 Describe the structure of stamen. Draw a labelled diagram of a
1+2+1=4

What is floricultur

ical stamen.
wP FUET/OR

- Tm HET I © 7 WWﬁWW% | T fefioTeeft sy <ht s
1 AHIfRd f=r a8 | %
What -is post-fcrtlllsatlon €\ g% e&cnbe the structure of plant endosperm. Draw a

labelled diagram of dicot em

20. W@lemﬁww%mﬁwmw@mmm

ImRga o 79T | _ =,
Define transcription. Write the name of parts of transcription unit of DNA.. Draw a
unit. 1 + 1 + 2 =4

o iption
schematic diagram of a transcrip
i 3Yal/OR

ffsierss & T fET lﬁ%@ﬁm@rmﬁ@vﬁ@ﬁmw | et
S w1 ATieRa o SR |

Write the components of nucleotide. Write one sahent feature of the double helix

structure of DNA. Draw 2 labelled diagram of double helix of DNA.
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